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B.Sc. (Part-1) Examination, 2022

MATHEMATICS
First Paper
(Higher Algebra)

{ration of Examination: 17 Hrs, Vax. Marks: 38
T = srafy; ) ey | T""""”
Instractions (o the Candidafes:
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_ Part-A (Compukory)
Answver any five questions (upto 20 words cach). Each question carries one marks.

uh's'mmﬁhﬁnmmmmzcﬁﬂmwﬁmaﬁqmﬁmmmmﬂm (5x1=5Marks)

Part-B (Compulsory)
Answer any (hree questions (upto 100 words cach). Each question carries [ive marks.

TE A we TR 1 TR Y IR 100 = A st T N S | T We i a5 = E ) (3x5=15 Marks)

Par-C
Candidate is required to aitempl any two question. (uplo 400 words)

R TN WY W1 2000 ST | WA T S 400 T & sl wE o e (2x9~ | 8 Marks)

Part-A{ 9mM-3
Q-1. Show that 2* > o for n > 10.

n > 10 % g vt il 27 > o
Q-2. _» Definc Recursive sequence and give ils example.

qAUE SR F1 wioaT £ S vEE UE Smmm 2
Q-3. Show that 1729 is an absolute pesudo prime.

wefzta FHIFaR =1 1729 66 ROy 257 5= T
Q. o Define Euler's @ [unction.
AMER ¢ Fer A gioara iR

Q-5. Define complete Quotient.
qof v 1 e g )
Q-6. Find the sum of series ifx < 1.
-

Soft g A AR wta afe x < 4
JF+2ve e I+ 4x"+ civnnns

Q-7. Form an equalion whose Iwo rools arc j 4+ 15 and 2.

T AT fAE A A 345 I 2 ki
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Q-8 Deline Reciprocal Equation and also give jig example.

FEhA WHIwT @t wfosm e 3R O Fmmom i Sy )
Q-9, Salve given equation by vedic method and also wrile the name of vedic method.

=t é AR A Afws fafu @ v S99 0 w8 Afzs fafa =1 =m0 Wy fafa
Q-10. F'ransform the cquation x/ 4 gxv' 4 X—3=¢ into one in which the second term is

FHFTN ¢ gy yu =S =0 TR T wiaf wifed frad facta vz w5 5
Part-B / wim-g

Q-11. State and prove Pascal's Rule.

TS o =1 eom fafad ofn fag S99

Q-12. Find the last two digits of the number 9?' .

TN 9% B wfem @) sim wm w R

Q-13. Show that all the roots of the following equation are real.
wifa St i s it T e Sreatass €1
A7 B K’
+ + e # =
X—a x-—b x—k .7
0-14- Shﬂ'-\-' lhal:- P-q--r.l' B .Pllv—l‘?n = “__f)"

TRAFTEA:- 5o Pas i@, =(—1)"

Q-15. Find the it A . .
2 the condition that the roots ofthe equation gy’ + 35x" + Jev +d = o in Geome

w3 7 e o o
TV 0! 4 3p? 4+ ex +d =0 = T Toheer on & &,
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431 show i cach Binemial cocMiciem “C,, ¥ e and tor all rsatisfying # < r<p is an
fewmens? (% werF fors e "¢, & np> j TR D Sr<n R "=r= /T T U 7
OR / yerar
ta)  State and prove fermut's Litlle theorem.
wHl o 97 e fergest fag wifariy
h I . 2 & T
(b)Y Let a and 5> 1 be nteger . then there exist jnteger & such that ab= 7 iff (a,n) =1
RS a4 A > g i ERYT p e B ab = 7 A2 (aun)=1
Unie-11 / 3HE-11
»-17.(a)  Findth , .
i ¢ number of roots of equation 2cos’ x —simx—J'=9 using graph.
TR =1 s » CONP
FT TN W BHF 30057 v msimx— [ = 00 @ §ET W "emr 99 HifEy |
(b)  Conven /3 ;3 into a continued fraction.
J3 + 2 & fam = 1 gfoafda =565fam -
OR [ migqr
{a) A meter is equal to 39.37079 inches. Show by the thear o - -
f cont ; n
nearly equal 1o 35 yards. nued fractions that 32 me
TF HIZT 39.37079 T9 & AT &) fam = & fogm 7
femreres fi 32 T 35 TR IO
ib) Find the gencrating lunction and the general v T .
E . 2 L U vmis of thy f'-ullmun_g, recurring serics,
FT+6x+I4x  +36x" +98x" +276x" ..
fr=fafeam arrE m#mwmmma:mml
34 bx+ 143 + 36x° + 98" 4 27607 e
l!ﬂll-l'l r m_ 1T}
1B (a) Find the condinon that the routs @ B,7.8 o] cQuation 4, v’ .
. . R R should b
nccted by the relabion aff = rd
qfgaasy AT #1047 welf® AR 3t e g, O .
& . e wegay aff = p5 & wrafarg
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1)) Discuss the naturc of Roots of cubic ?"*Jﬂ;'—rr-a
- o F RS

w2tz G=0 % T A wEfa w1 fada Hifo
!

D a+Bry=1. q? 45 4
B +y =2 and a‘+ﬁ‘+y-‘=3 then find the vniucufa‘fﬁ‘-l-y‘

ﬂ '

; , .
®)  Solve the equatioin by Ferrari’s method.,

nﬁmaﬁtﬁﬁﬁfﬂﬂmrﬁhm

O6x -7y’ +8x° ~7x+2=0
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